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QUESTION 1

Which of the following must be measured when calculating the annual energy consumption of a server? 

A. How long the server takes to shut down and reboot. 

B. The amount of times the system is upgrading in a year. 

C. The energy consumed in different modes of operation. 

D. The operating temperature of the server during peak loads. 

Correct Answer: C 

 

QUESTION 2

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint? 

A. Travelling to the office. 

B. Opening a spreadsheet. 

C. Recycling a server. 

D. Printing out a report. 

Correct Answer: C 

 

QUESTION 3

Which of the following is not part of a Green Printer Strategy? 

A. Set printers for double-sided printing. 

B. Use recycled paper and cartridges. 

C. Switch printers off when not printing. 

D. Replace standalone printers with networked printers. 

Correct Answer: C 

 

QUESTION 4

What is the best definition of a Carbon Footprint? 

A. The amount of greenhouse gas emitted within a defined geographical area. 

B. The amount of greenhouse gas emitted by an organisation. 
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C. The amount of greenhouse gas emitted by one person in one year. 

D. The amount of greenhouse gas emitted minus the amount of carbon offsetting. 

Correct Answer: B 

 

QUESTION 5

Which statement best describes the purpose of a Green IT policy? 

A. To ensure an organisation IT meets green legal requirements.To ensure an organisation IT meets green legal
requirements. 

B. To inform stakeholders of an organisation Green IT approach.To inform stakeholders of an organisation Green IT
approach. 

C. To allow an organisation to measure its Green IT performance. 

D. To ensure Green IT is as important as other organisational initiatives. 

Correct Answer: B 
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